§.5779 Lectwe A: CHs‘Hjjm

— U~ Ha,, Sb:mo: ’ ",aH?
gell 64 <l e Y e

/AKB\
N STF AN
(\Adg ?291






%
.“‘><0 b
y J

> \ b,
0’05\’ _\, :‘°y\

) ‘;L % consh

7/00‘ (on S'ﬂ‘)"[) oY vwost 3/‘3
— w = 3/

S Cusy "‘“rM -
'V\olorjmj CH‘S‘H ""/ aum*)v»\

OBS"NVG]P’@S . S
al e 190 A=CD
G T C.—DL




ﬁ ﬂo ] C
He.m%-“/uawl«, "‘l \\









VAN s:n(%j 3D

|ST/a) T = 3in(x/g ) teos ()2
I

8,” 7= (\ -\






= wim ?%oL. Co.(’lr_:
% 0.9 38
Stabi | gn calculapon )

= — t
RTINS |

Obsev*e - J)
l\V‘> — )(QX. 1 ‘//5 ~
v o) T 2;%] \I/BN/

fz(‘") i ‘
= (© '\ ‘3;('9 f/_))




)= L Lhnenine s,
rAe R - A'@B)))qz)

1 |
= =W\ e (2) YL (2% )
LI E

) éxa (X 270

2 }QX@X}M’)
- .%y -L‘;%—;[L(\(Qow)
¢;+%Q-@ww
P\ [~ g
\ VAR AOYSL)
~ ‘::; "/‘;\;&'LS(8>

-—— «

\.\'0"}, Io—eé —‘—"“:S—\MCan?. o=
Iy Al e pley CHSEM

3
n ek 2 /M

W



?-? Vo L.\'}VN\ 'G\v Yheir

s :Qs ML
A‘qu‘)"'”i

) LaealiFy o



why, 98547717

T gt o o) /;,J,o.,,
( Su\ OF'I'VM l ] y‘f%m\c ’Sbowe‘
ou ':)0‘1 éf(, w"" — , ?

! x | Al ~ [

LLH(AJ” ¥, - ﬁ"\;’}) ¥ A8, “’%)’?)

(W (8,02 (Fe8) 1> =
N——" ~
{vo L |wo.> =
W AleTl®) v
= O T e




VoD = Y
v - W0
\\/ \"’ D



